
Collecting Like Terms Solutions 

 

Q1. 

a) 4a b)  3ݎ + 2݃ c)  5݁ + ܽ 

d)  7݂ + e)  ͷ݄ ݓ4 + ݑ7 + 5 f)  11ݔ + 12 

g)  5ݓ + 2ܾ + 2 h)  ݀ i) 8ݒ + ܽ + 2 

j)   6 k)   0 l)  9݃ + ݐ + 19 

 

Q2. 

a)  6ܽ݀ b)  6݂݃ c)  4ܾܽܿ 

d) 6ݔଶ e)  4ݔଶ + ଶ f)  5݀ଶݎ4 + 5݀ 

g)  6ݕଶ + 12 + 12݃ଶ h)  5ݔଶ i) 5ݕଶ +  ݕ5

j)   2ܾܽଶ + ܾܽଶ + 2ܾ + 2ܽ k)   3ݎଶ + ݎ11 + 3 l)  3ݐଶ + 3 + ݐ11 + 2݆ଶ 

 

Q3. 

  

   

 

Q4.  

a) Perimeter = 14ܿ + 8ܽ +  ݏݐ݅݊ݑ 6

b) Perimeter = 7݂ +  ݏݐ݅݊ݑ 3
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Algebraic Products Solutions 

 

Q1.  

a)  3ܽ b)  5ݎ c)  14ݎ 

d)  ݓݎ e)  3݄݁ f)  16݅ݑ 

g)  6݀ h)  24݀ i) 36݃ 

j)   2݁ݎ k)   8݀ݔݍ l)  54ݏ݁ݓ 

Q2. 

a)  ݕଶ  b)  2ݔଶ   c) 8ݎଶ 

d)  2݄ଶ݂ଶ e)  6ݍ݌ f)  6ݔଶݕଶ  

g) 6݅ଷݎ h)  16݉ଶ݊  i) 12݃ଶ݂ܽ  

j)   16ݕଶݔଶ݁  k)   16݃ଷ݁ଶ l)  24ݎଷ݂ଷ  

 

Q3. 

 

Q4. 

  

a) Possible perimeters include: 8a + 2b, 4a + 4b, 8b + 2a  (not exhaustive) 

b) Possible perimeters include: 72r2 + 2h, 36r + 4hr2, 18h + 2h2, 72 + 2r2h, 4h2 + 36  

(not exhaustive) 
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Substituting into Expressions Solutions 

 

Q1. 

a) 16 b) 7 c) 1 

d) 40 e) 36 f) 10 

g) 1 h) 4 i) 6 

j)  9  k) 14 l) 6 

 

Q2. 

a) 12 b) 38 c) 16 

d) 420 e) 22 f) 65 

g) 2 h) 4 i) 1 

j)  5  k) 62 l) 634 

  

Q3. 

2݀ + ݐ4 (46) 6 + ݑ5 (27) ݑ + 6

3
(7) 

݀ +  (6) ݐ (32) ݉

݀ + ݐ + ݉ݑ (27) 1
ݐ (6) 

3݉ + ݐ6 (46) 10 െ ݐݑ (32) 4 െ 11 (7) 

 

Q4. 

4݉ + ݐ2 (15) ݎ െ ݐ݀ (18) ݀݉ + ݐ3 (25) 5݉ +  (26) ݉ݎ

 

 

 

 

 

 

 

 

 

 

12 
 


